v M OM OJQM&SU{MCJA mmmmmmm %Mﬁ/f

\7[8/1’07 % /o —
ar ol —————— o s
WW %1/?1 e 07 29| W%v‘-u{/

g L

M?_::]L,_,_SM @ JO

f’ﬁ Whing— Comn Py e S T P
kS (/23 .f_?‘.(g‘tm:_‘_’f* e
T s ST
 Yhen voor \oo\w\ S¢d—g
i 2 =% e

———————— = — ..,,,,“::'. ‘_-;_ _ P _" - .
Mma =% ,f_k,Or __——,Z,

_A-cf o= - A+ ge_-“

_ ?GY‘CACM-W \q}r »
Erres ———
"'"C.Sv\s(' ’i‘ DCQ),&- - -8 & _.t:';-. romehs

———————=

e

Oy LoCtaDa ot e L
dx* i |
_ c-(esk - Dw{-) {—‘r(cwrlrws%% béccask + psrng) (st
_ S(test 45D cosk=(osk = otk eqm :
s Csmt £SDSmk-0 )

Clamaleantouws _Qﬁ/u-a}“o" I Y
e - %_ S + 5D :'J o

- l O P L
- i .
0 — - - - : - J—
e — . -
= e LO o rm——— - - =
f’ CEY ~ "
- . e -

—-—-—-..‘.;:;_i.,;;mf_b,':_::/lo e .;,_v,f‘ 5 S MR 241 /
e BT o ‘/lO st "' /10_}‘*7‘: . 4
— Aef’c 4+ B+ Vio (Cint= Cost)

kam__,, = _,,,,m_b_cxo |_ound|_dy/dx = 9 o
— = AC) A+ B0 * Vo (1) |
—_— @L: AtB~O-| -
~— AR~ O+ 0|

Scanned with CamScanner



-

Ari= oL w\,o B PRETD

Ax /dt <8¢ 1 /oo (cOsL +sm3
ZA LR Mo LMoy = xd + 3RNE & S i
_ ._oJ = A ~28 Ur 9+ ~T L v

| '3/4'\*7«13 o~k —-»fQé)’_ql@w___ T
R = Bl R
AL i b S —
S van © k0 oo @ N 2= SR pen
< (011~ Bt 28 <ol oS- e
0:lo-3R+ =01 T+ OA= 5y o
R=0~ . : -

ll 11

=036+ 01 + Vo (sink ) - -
=0 l&_"_‘i, _OJ e %____._ _,’/ 0. CSI\n ’t; ~Cos ) o L

COMMM clm_w\n CLO\A) 3o e «1 oo §37E & 7 - E
— CA'OS&‘ . Qlk J -*——"v—'-s-——-:.—-.-:“_,m b i V ’ LT e ";_ .
S— A GM’ S S £ airad Laan s G- |

Lo | = (2 4 57 F2 .
-—u——rSDm_-DL' k' l S P - B
_tt(gr0:1M8)]

xa 0-1F @"’f( “L&l 0-Y* Qm{,(, 1”“%)0 0((‘))‘[&7 ?JD
plok_ (k0. e

Scanned with CamScanner



—

X =K I (t +o)

Jcr\owmq Xz0:l_ok £=0 ond elx/dt =0

rlDC/rM' = K (o5 (L“"O\)

0O =W s (ot+a)

= K s CO\) 20

O":K”“(,O'\‘O\) . equ@
' v

K (@) ~ 0
(30220 = = los™ (o)
& = I
ks Q32 egn ()
0= 1= K (90) ﬁ.
K= 0- L/s.m %o
L/(—:_

o CSM CE+°10)>

]

Commond  Winclows

Corm + X
?,m 0. IS'J/

5 s s EtCSm L% "’10_))

Plot (&, 2¢)

Scanned with CamScanner



